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MATHEMATICS

Q.1.

Q.2.

Q.3.

Q.4.

Q.5.

Q.6.

Q.7.

2 °
NewEPinro. NEwED

A T R 34 9N IR 6 R={(x,y) : 2x+y=41, x, yeN } a1 R, 7 % & {67 a6 &1
Y T 7
What is the nature of relation R, if R is defined as R ={(x,y) : 2x+y=41, x,yeN}?

(A) *dd / reflexive (B) T / symmetric
(C) H&Ma® / transitive (D) 379 I @5 7&i / None of these
Ans:D
c0824° +c0s55° +c0s125° + c0s204° +cos300° =?
1 3
A 5 ® 3 (©) 3 (D)0
Ans:A
2
sec"{x2 +1} =7
x -1
(A) 2 tan " x (B) 2x? (C) 2cot " x (D) x?
Ans:C
AT 9x% — 16y =144 & AT ST B |
Find the foci of hyperbola 9x*— 16y*=144.
(A) (0, £5) (B) (5, 0) (C) (#£5,1) (D) (5, 1)
Ans:B

=1 Brga @1 ugf o & s did g A(12, 8), B(-2,6) 7 C(6,0) © |

Find the nature of the triangle whose vertices are A(12, 8), B(-2, 6) & C(6, 0).
(A) FHIgaTg T By /Isosceles Right angle triangle

(B) #AHAT® %Fﬂﬂ/Equilateral triangle

(C) Tquwarg Y=t / Scalene triangle

(D) 7% ¥ 13 7ei / None of these

Ans:A
xy— @ W90 &5 P(x,y,z) & 0T,
For every point P(x,y,z) on the xy- plane,
(A) x=0 (B) y=0 (C) z=0 (D) None of these
Ans:C
(6+50)° @1 g™ o1 &l |
Find the conjugate of (6+ 5i)°.
(A) 60+11i (B) 11-60i (C) 11+60i (D) 60—11:
Ans:B
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Q8. Cnnr+2Cnr-)+Cn,r-2)=7
(A) C(n+1,7) (B) C(n+2,r) (C) Cn+2,r—1) (D) C(n+1,r-1)
Ans:B
Q.9. UH Ui il &l ndf ug 2" ¥ 1 3% U9 6 Ui &1 AN 1 BT |
If n" term of a G.P. is 2" then find the sum of its first 6 terms.
(A) 126 (B) 124 (C) 190 (D) 154
Ans:A
6 . .
Q.10. (gx_l) % fopam X7 @1 U S AT |
X
6
Find the coefficient of X” in the expansion of (3x_lJ .
b
(A) 405 (B) 7290 (C) 2430 (D) 1215
Ans:D
0 ¢ B
Q1. |, o 4 =9
b a O
(A) a*b*c (B) 4a*bc? ©) % e (D) (a+b+cy
Ans:B
0 0 1
Q12. I 4-|o 1 o T A'=?
1 00
0 0 1
If 4—lo 1 ol then 4" =2
1 00
(A) 4 (B) — A (C) I (D) - I
Ans:A
1 o o
Q13. I o IEHITTEe A |0 o 1 = ?
o 1 o
1 o o
If @ is the cube root of unity, then |@ @° 1|= ?
o 1 o
(A1 B) » (C) @’ (D)o
Ans:D
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Q.14. h.msin(2+x)—sin(2—x) =9
(A) %COSZ (B) 1 (C) 2cos2 (D) 0
Ans:C
Q.15. %{tan_l(secx+tanx)}=?
1 1
(A) =3 (B) 1 (C)-1 ®) 5
Ans:D
Q.16. AT x+y+iy—x=c 2—2{ T B |
Find Zl_zf, if Jx+y+iy—x=c.
®) 2 ®)- = © = ©
Ans:C
Q.17. U B9 &l YT § 3 HHI/HEUS &l &7 4 gig &1 Tl & | afe &9 @l g1 10 F1 & dl 398 A
4§ &9 al ghg & &7 (T / Haos §) d & |

An edge of a cube is increasing at the rate of 3 cm/sec. Find the rate at which does the
volume increase (in cm*/sec) if the edge of the cube is 10 cm.
(A) 900 (B) 725 (C) 700 (D) 825

Ans:A

Q.18. ARG s=¢ —4 +5 FH H1 (T qATH & AR G0 G & dl 251 97 ( 30 9 Fa02) 7

If s =¢>—4¢* + 5 describes the motion of a particle, then its velocity (in unit/sec) when the
acceleration vanishes, is

16 32 4 -16
A) — B) —— C) — D) —
(A) 5 (B) 3 ( )3 (D) 3
Ans:D
Q.19. T3 8, 12, 13, 15, 22 & HHS fage sd & |
Find the standard deviation of 8, 12, 13, 15, 22.
(A) 3.54 (B) 3.72 (C) 4.21 (D) 4.6
Ans:D

Q.20. 3 Ueh e @i GIF AT TSI Sl & a1 Hees § T A1 &1 Y A a0l Jiehel S &0 |

If a coin is tossed thrice, find the probability of getting one or two heads.

®) © ©)

|

3
4
Ans:C
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Q.21. 7 g A(60i+3)) B(40i-8)) AT C(ai-52)) TTER a=o

If the points A(60?+3f), B(40?—8}) , and C(ai—Szf) are collinear, then « is equal to

(A) 40 (B) -40 (C) 20 (D) -20
Ans:B
3
Q22. [ sin“xdx=?
3
V3 n 1
A) 1 By T_Y° cyr_2 D) 0
(A) ® - ©7z-1 ©)
Ans:B
Q.23. J‘ﬂdx =7
cos” x.sin” x
(A) —cotx—tanx+c (B) cotx—tanx+c (C) cotx+tanx+c (D) tanx—cotx+c
Ans:A
Q.24. e FHHT Z—y=e*+y+x2ey % & Fd &0 |
X
Find the solution of the differential equation Zy e +xte’.
X
y3 x3 x3 ! y3
(A) ex—ey+?=c (B) ex+ey+?=c (C) ex+e_y+?=c (D) e*+e‘y+?=c
Ans:C

Q.25. g% y’ =2y—x AT y- A& T UREG & &1 &A% (I T2 §) T & |

Find the area of the region (in sq.units) bounded by the curve Y =2y—-x & y - axis.

(A) (B) 7 ©) < D) %

3 3 3

W | oo

Ans:B
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